
次の定積分を求めよ．

(1) 　 I =
Z 1

0
x2
C

1¡ x2 dx

(2) 　 J=
Z 1

0
x3 log (x2 + 1)dx

É2021　神大 理系 前期 Ê

É解答例 Ê

(1) 　 x = sinµ とおくと dx
dµ = cosµ，

x 0 ! 1

µ 0 !
¼
2

I=
Z 1

0
x2
C

1¡ x2 dx =
Z

¼
2

0
sin2 µ

C

1¡ sin2 µ dxdµ dµ =
Z

¼
2

0
sin2 µ cos2 µdµ

ここで sin2 µ cos2 µ= (sinµ cosµ)2 = # sin 2µ
2

;2 = sin2 2µ
4

=
1¡ cos 4µ

8

I =
Z

¼
2

0

1¡ cos 4µ
8

dµ = � µ
8
¡
sin 4µ
32

„ ¼2
0
=
¼
16

(2) 　部分積分法を用いて
Z

x3 log (x2 + 1)dx = x4 ¡ 1
4

log (x2 + 1)¡
Z

x4 ¡ 1
4

¢
2x
x2 + 1

dx

=
x4 ¡ 1
4

log (x2 + 1)¡
Z

x4 ¡ 1
4

¢
2x
x2 + 1

dx

=
x4 ¡ 1
4

log (x2 + 1)¡
Z

(x2 ¡ 1)(x2 + 1) ¢ 2x
4(x2 + 1)

dx

=
x4 ¡ 1
4

log (x2 + 1)¡
Z # x3

2
¡
x
2

;dx
=
x4 ¡ 1
4

log (x2 + 1)¡ x4

8
+
x2

4
+ C (Cは積分定数)

よって

J=
Z 1

0
x3 log (x2 + 1)dx

= � x4 ¡ 1
4

log (x2 + 1)¡ x4

8
+
x2

4
„1
0

= ¡
1
8
+
1
4

=
1
8

別⃝
Z

x3 log (x2 + 1)dx = x4

4
log (x2 + 1)¡

Z

x4

4
¢
2x
x2 + 1

dx

=
x4

4
log (x2 + 1)¡

Z

x5

2(x2 + 1)
dx

=
x4

4
log (x2 + 1)¡ 1

2

Z

(x2 + 1)(x3 ¡ x) + x
(x2 + 1)

dx

=
x4

4
log (x2 + 1)¡ 1

2

Z #x3 ¡ x+ x
x2 + 1

;dx
=
x4

4
log (x2 + 1)¡ 1

2
S x4
4
¡
x2

2
+
1
2
log (x2 + 1)k

=
x4 ¡ 1
4

log (x2 + 1)¡ x4

8
+
x2

4
+ C (Cは積分定数)
























































































